
Tabela 6.3 

                    P1 = ......   [N]                    n1 = ......   [obr/min] 

Przekrój A–A Przekrój B–B Przekrój C–C Przekrój D–D Przekrój E–E 

 [
0
] 

pteort. pdośw. pteort. pdośw. pteort. pdośw. pteort. pdośw. pteort. pdośw. 

[Pa] 

0           

25           

51           

77           

103           

129           

155           

180           

P = ......                                               
n = ...... 

P = ......                                               
n = ...... 

P = ......                                              
n = ...... 

P = ......                                               
n = ...... 

P = ......                                               
n = ...... 

Przekrój C–C Przekrój C–C Przekrój C–C Przekrój C–C Przekrój C–C 

 [
0
] 

pteort. pdośw. pteort. pdośw. pteort. pdośw. pteort. pdośw. pteort. pdośw. 

[Pa] 

0           

25           

51           

77           

103           

129           

155           

180           

 
 


